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#include <stdio.h>
int main(void)

int 1

for (1—1 1< 5; 1+—|—){
for j =1 f]( = i; j++)1{

printf("*");
printf("¥n");

}
printf("Hello, world¥n");
return 0;
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#include <stdio.h>
int main(void)

int 1
for (1 =1:1<=5;1++){
rlntf( 'T= (Vd " 1)
F r ] =1 =1; ++){
pr1nth("%d*' J);

printf("¥n");

return O;
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#include <stdio.h>
int main(void)

int 1
for (1— 1:1<=5;1++){
rlntf(I %d " 1);
or J_lfJ< 5; ]++){
print ("%d*",])

printf("¥n");

return O;
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#include <stdio.h>
int main(void)

int 1
for (1 5:1>=1:1--){
r1ntf("I %d "1):
or (j = 1'f) )++){
printf(' %d* J);

printf("¥n");

return O;

1*2*3*4*5%
1%*2%*3*4*
1*2*3*
1%*2%*

1*

RO

— DN WO




#include <stdio.h>
int main(void)

int 1, j;
for 1—5 1> 1; 1--){

For i !

printf("¥n");

return O;
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#include <stdio.h>
int main(void)
{ . . .
int i, j;
forG=1;1<=9;i++){
for G=1;7<=9;j++){
printf("%d*%d=%3d " 3,1,1%);

printf("¥n");

}

return 0;

2¥1= 2 3*1= 3 4*1= 4 5¥1= 5 6*1= 6 7*1= 7 8*1= 8 9*1= 9

1*1= 1

1%2= 2 2%2= 4 3*2= 6 4*2= 8 5*2=10 6*2=12 7*2=14 8*2=16 9*2=18
1*3= 3 2*3= 6 3*3= 9 4*3=12 5*3=15 6*3=18 7*3=21 8*3= 24 9*3=27
1*4= 4 2*4= 8 3*4=12 4*4=16 5*4= 20 6*4= 24 7*4= 28 8%4= 32 9*4= 36
1*5= 5 2*5=10 3*5=15 4*5= 20 5*5=25 6*5= 30 7*5= 35 8*5= 40 9*5= 45

1*6= 6 2%6=12 3*6=18 4*6= 24 5*6= 30 6*6= 36 7*6=42 8*6= 48 9*6= 54

1*7=7 2%7=14 3*7=21 4%7= 28 5*7=35 6*7=42 7*7=49 8*7=56 9*7= 63

1*8= 8 2*8=16 3*8=24 4*8= 32 5*8= 40 6*8= 48 7*8=56 8*8= 64 9*8=172

1%9= 9 2*9=18 3*9= 27 4*9= 36 5*9=45 6*9= 54 7*9= 63 8*9=172 9*9= 81




